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4 B T HAH =2 5/ 4 31.35 8% ( 0.63)
5 78Il KRR BEIits =3 5/ 3 31.74 7% (0.67)
6 BT A= R A F4iE =3 5/ 8 31.85 7#%  ( 0.64)
TOhE R 1P =2 5/ 1 31.93 7#%  ( 0.60)
8 Wk AR Hirl & 2 ] El 4/ 4 32.52 %% ( 0.69)
9 WIE B HAH =2 5/10 32.92 6% ( 0.74)
10 #ifk == B Iits =2 4/ 7 32.93 6% ( 0.69)
11 AKiE Bk M = 4/ 6 33. 11 65% ( 0.57)
12 il RREK il 2[5 =) 5/ 9 33.64 5%k ( 0.71)
13 fH &5 il % 22 ] v 2 =) 4/ 5 33. 71 65% ( 0.62)
14 KB &I A 5 =l 4/ 9 34.68 5% ( 0.70)
15 BlE  KI6 (A =3 4/ 1 37.10 28%  (0.74)
16 HER HEK EIRKE =3 4/ 2 37. 44 % ( 0.84)
17 N &b 7 [ &3 4/ 3 37.54 1% ( 0.65)
18 Ytk IEE LS e = 3/ 5 38.65 L% ( 0.75)
18 M Al LD R =2 4/10 38. 65 ( 0.72)
20 JHH K #k = 3/ 8 38. 86 ( 0.68)
21 RBIE e Fa B =) 3/ 2 39. 60 ( 0.65)
22 KK HUK B ] =2 2/ 8 39. 94 ( 0.89)
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24 =G B RN =) 4/ 8 40.19 ( 0.76)
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29 P %ﬂ} R 52 ] =3 3/ 1 42.58 ( 0.82)
30 {EHF  BEK R =2 2/ 5 42.99 ( 0.78)
31 fEIR & mr e =1 1/ 3 43. 03 ( 0.89)
32 RED 5 AR T3 = 3/ 3 43.77 ( 0.69)
33 FAKT g2l ARG =2 2/ 3 44. 29 ( 0.74)
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35 HJIl  kE BT &=l 1/ 7 45. 42 ( 0.73)
36 FAH A A =1 2/ 4 45.79 ( 0.79)
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